Pupil 1:  Ok, so this task we’re just basically to put into order what we think are the causes of World War One starting with the main cause at the top working down, ok what, does anyone want to start off?

Pupil 2:  I think the assassination at Sarajevo should go near the bottom because, I mean although it started the war, I think anything would have really started it and that was just happened to be the one

Pupil 3:  I don’t think it should go at the bottom but I do agree with what you mean that it wasn’t as important but also Austria Hungary wanted revenge because of the black hand and because they assassinated their Duke so I think it is still quite important to linking in with the war so what do we think we do, where should it go?

Pupil 4:  We put it in the middle

Pupil 2:  Yes, I agree

Pupil 4:  What do we think about the alliance system?

Pupil 2:  I don’t think its that important because in a way it was just a backup of like if they need it

Pupil 3:  The countries coming together

Pupil 2:  Yes, I don’t think it would have started the war at all

Pupil 1:  I suppose though, if they had two separate groups and there was tension between them then I suppose it does have a bit of an impact on World War One

Pupil 3:  We should put it as an equal with the assassination

Pupil 2: Yes, I don’t really think it is equal because, I mean the assassination, it really stared the war whereas the alliance systems wouldn’t really start the war

Pupil 5:  Yes, without the alliance systems Germany would feel no need to invade France

Pupil 3:  Yes, I suppose and they wouldn’t feel the need to gang up on each other, it would all be a fair chance

Pupil 1:  So shall we leave them

Pupil 3:  Yes, let’s leave them

Pupil 1:  Where do we think the arms race should go?

Pupil 4:  I think it should go near the top because the arms race had been going, had started years before that and they wanted to get better than one another to get more modern ships and weapons

Pupil 3:  They always wanted to be like one up and better

Pupil 4:  So I think it should go near the top

Pupil 3:  What do we think on the tension of the Balkans?

Pupil 5:  I think it should go above the assassination at Sarajevo because without the tension at the Balkans the assassination wouldn’t have happened

Pupil 2:  I agree with that

Pupil 1:  The existence of war plans and the rivalry between the great powers, what do you think is more important?

Pupil 2:  I think the rivalry between the great powers is more important because no matter what there was always rivalry that would have started a war and the existence of war plans wouldn’t have happened really if there wasn’t that much rivalry because it made them think there could be a war

Pupil 3:  But then again I say if the countries hadn’t made up war plans then there wouldn’t be, no one would have known what to do in the war if it came so I do think that’s equally important and it links into the arms race

Pupil 2:  I think the arms race and the existence of war plans all links in to the rivalry between the great powers because the rivalry started the arms race and the existence of the war plans

Pupil 3:  So does everyone agree that should go at the top?

Pupil 1:  I think so

Pupil 5:  I think so

Pupil 4:  What was the rivalry between the great powers about?

Pupil 2:  It was about, they all wanted more land and they wanted more power like in the world so they all wanted to get the most, like the biggest, like that’s like they way they started the arms race they all wanted like the more, like a bigger naval

Pupil 3:  Like it was a competition between them all

Pupil 1:  Colonies and

Pupil 4:  Wouldn’t that just be linking into the arms race?

Pupil 2:  That’s what really started the arms race I think

Pupil 4:  No but the arms race and the rivalry is both the same thing because they’re both trying to get better than one another

Pupil 2:  Yes

Pupil 4:  So do you think they should be equal

Pupil 2:  I think they should

Pupil 1:  I still don’t think the existence of war plans should go at the top though because I suppose it’s more kind of, they were just preparing if there was ever a war

Pupil 3:  Yes, I think that should go there..

Pupil 4:  That should go there

Pupil 5:  That didn’t actually start war

Pupil 1:  Do we have anything that could maybe go as the top or are we going to keep it just the two?

Pupil 4:  I think we should keep it just the two

Pupil 3:  They are equally as important

Pupil 1:  So to sum up, we think that the arms race and the rivalry between the great powers are equally important and they both caused the World War because..

Pupil 2:  Because the arms race was, they were all trying to get better than one another, trying to get better armies and naval..

Pupil 3:  And it was all a big competition between them

Pupil 4:  And at the bottom we put the alliance system and the assassination at Sarajevo because we thought the assassination in Sarajevo wasn’t a really big thing because it may have started it but anything could have started it because there was too much rivalry between everyone.
